Kalapet, Pondicherry

Home

Mother Name: ANANDHAVALLI



Result Announced Date: 14/05/2025

I Semester B.Sc. ZOOLOGY JANUARY 2025 Examinations

Reg. No.: 24ZL0001

Name of the Student : AAKASH M

Father Name: MAHALINGAM

				1	1	
Sl. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	BIOLOGY OF INVERTEBRATES-I	Th.	4	000	000	F Fail
2	INTRODUCTION TO BOTANY -I	Th.	4	000	000	F Fail
3	ENGLISH-I	Th.	3	000	000	F
4	AQUACULTURE	Th.	3	000	000	Fail
5	ENVIRNMENTAL STUDIES	Th.	2	000	000	F
6	UNDERSTANDING INDIA	Th.	2	000	000	F
7	BASIC BOTANY (MLD01)	Th.	3	000	000	F

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original

Kalapet, Pondicherry

Home



Result Announced Date: 14/05/2025

I Semester B.Sc. ZOOLOGY JANUARY 2025 Examinations

Reg. No.: 24ZL0002 Name of the Student : ABHINAYA K

Father Name: KARTHIKEYAN **Mother Name: THILAGAVATHI**

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	BIOLOGY OF INVERTEBRATES-I	Th.	4	000	000	F Fail
2	INTRODUCTION TO BOTANY -I	Th.	4	5.00	20.00	С
3	ENGLISH-I	Th.	3	000	000	F
4	AQUACULTURE	Th.	3	6.00	18.00	В
5	ENVIRNMENTAL STUDIES	Th.	2	5.00	10.00	С
6	UNDERSTANDING INDIA	Th.	2	6.00	12.00	В
7	BASIC BOTANY (MLD01)	Th.	3	4.00	12.00	Р

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Kalapet, Pondicherry

Home



Result Announced Date: 14/05/2025

I Semester B.Sc. ZOOLOGY JANUARY 2025 Examinations

Reg. No.: 24ZL0003 Name of the Student : ABISHEK S

Father Name: SENTHIL Mother Name:.

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	BIOLOGY OF INVERTEBRATES-I	Th.	4	000	000	F Fail
2	INTRODUCTION TO BOTANY -I	Th.	4	000	000	F Fail
3	ENGLISH-I	Th.	3	000	000	F
4	AQUACULTURE	Th.	3	000	000	Fail
5	ENVIRNMENTAL STUDIES	Th.	2	000	000	F
6	UNDERSTANDING INDIA	Th.	2	4.00	8.00	Р
7	BASIC BOTANY (MLD01)	Th.	3	000	000	F

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Kalapet, Pondicherry

Home

Mother Name: EZHILARASI



Result Announced Date: 14/05/2025

I Semester B.Sc. ZOOLOGY JANUARY 2025 Examinations

Reg. No.: 24ZL0004 Name of the Student : ASHOK P

Father Name: PANNEERSELVAM

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	BIOLOGY OF INVERTEBRATES-I	Th.	4	6.00	24.00	В
2	INTRODUCTION TO BOTANY -I	Th.	4	5.00	20.00	С
3	ENGLISH-I	Th.	3	000	000	F
4	AQUACULTURE	Th.	3	9.00	27.00	A+
5	ENVIRNMENTAL STUDIES	Th.	2	5.00	10.00	С
6	UNDERSTANDING INDIA	Th.	2	6.00	12.00	В
7	BASIC BOTANY (MLD01)	Th.	3	4.00	12.00	Р

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Kalapet, Pondicherry

Home



Result Announced Date: 14/05/2025

I Semester B.Sc. ZOOLOGY JANUARY 2025 Examinations

Reg. No.: 24ZL0005

Name of the Student : BHAVATHARANI V

Father Name: VELMURASU **Mother Name: SIVAGAMI SUNDARI**

Sl. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	BIOLOGY OF INVERTEBRATES-I	Th.	4	6.00	24.00	В
2	INTRODUCTION TO BOTANY -I	Th.	4	8.00	32.00	A
3	ENGLISH-I	Th.	3	4.00	12.00	Р
4	AQUACULTURE	Th.	3	10.00	30.00	0
5	ENVIRNMENTAL STUDIES	Th.	2	6.00	12.00	В
6	UNDERSTANDING INDIA	Th.	2	6.00	12.00	В
7	BASIC BOTANY (MLD01)	Th.	3	4.00	12.00	Р

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Kalapet, Pondicherry

Home



Result Announced Date: 14/05/2025

I Semester B.Sc. ZOOLOGY JANUARY 2025 Examinations

Reg. No.: 24ZL0006

Name of the Student : DHEEPASTINI S

Father Name:. Mother Name:.

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	BIOLOGY OF INVERTEBRATES-I	Th.	4	000	000	F Fail
2	INTRODUCTION TO BOTANY -I	Th.	4	000	000	F Fail
3	ENGLISH-I	Th.	3	000	000	F
4	AQUACULTURE	Th.	3	5.00	15.00	С
5	ENVIRNMENTAL STUDIES	Th.	2	000	000	F
6	UNDERSTANDING INDIA	Th.	2	000	000	F
7	BASIC BOTANY (MLD01)	Th.	3	000	000	F

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Kalapet, Pondicherry

Home

Mother Name: SULOCHANA



Result Announced Date: 14/05/2025

I Semester B.Sc. ZOOLOGY JANUARY 2025 Examinations

Reg. No.: 24ZL0007

Name of the Student : GANESH KUMAR R

Father Name: RAMAMOORTHI

Sl. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade	
1	BIOLOGY OF INVERTEBRATES-I	Th.	4	000	000	F Fail	
2	INTRODUCTION TO BOTANY -I	Th.	4	6.00	24.00	В	
3	ENGLISH-I	Th.	3	000	000	F	
4	AQUACULTURE	Th.	3	000	000	Fail	
5	ENVIRNMENTAL STUDIES	Th.	2	000	000	F	
6	UNDERSTANDING INDIA	Th.	2	000	000	F	
7	BASIC BOTANY (MLD01)	Th.	3	000	000	F	

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Kalapet, Pondicherry

Home



Result Announced Date: 14/05/2025

I Semester B.Sc. ZOOLOGY JANUARY 2025 Examinations

Reg. No.: 24ZL0008 Name of the Student : GOPINATH S

Father Name: SARATHKUMAR Mother Name: RAJESMARY

Sl. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	BIOLOGY OF INVERTEBRATES-I	Th.	4	000	000	F Fail
2	INTRODUCTION TO BOTANY -I	Th.	4	4.00	16.00	Р
3	ENGLISH-I	Th.	3	000	000	F
4	AQUACULTURE	Th.	3	5.00	15.00	С
5	ENVIRNMENTAL STUDIES	Th.	2	6.00	12.00	В
6	UNDERSTANDING INDIA	Th.	2	6.00	12.00	В
7	BASIC BOTANY (MLD01)	Th.	3	6.00	18.00	В

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Kalapet, Pondicherry

Home



Result Announced Date: 14/05/2025

I Semester B.Sc. ZOOLOGY JANUARY 2025 Examinations

Reg. No.: 24ZL0009 Name of the Student : GOWTHAM P

Mother Name: VANITHA Father Name: PALANISAMY

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	BIOLOGY OF INVERTEBRATES-I	Th.	4	000	000	F Fail
2	INTRODUCTION TO BOTANY -I	Th.	4	000	000	F Fail
3	ENGLISH-I	Th.	3	000	000	F
4	AQUACULTURE	Th.	3	000	000	Fail
5	ENVIRNMENTAL STUDIES	Th.	2	000	000	F
6	UNDERSTANDING INDIA	Th.	2	000	000	F
7	BASIC BOTANY (MLD01)	Th.	3	000	000	F

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Kalapet, Pondicherry

Home

Mother Name: DEVIGA



Result Announced Date: 14/05/2025

I Semester B.Sc. ZOOLOGY JANUARY 2025 Examinations

Reg. No.: 24ZL0010

Name of the Student : GUNABALAN T Father Name: THIYAGARAJAN

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	BIOLOGY OF INVERTEBRATES-I	Th.	4	6.00	24.00	В
2	INTRODUCTION TO BOTANY -I	Th.	4	6.00	24.00	В
3	ENGLISH-I	Th.	3	4.00	12.00	Р
4	AQUACULTURE	Th.	3	10.00	30.00	0
5	ENVIRNMENTAL STUDIES	Th.	2	6.00	12.00	В
6	UNDERSTANDING INDIA	Th.	2	7.00	14.00	B+
7	BASIC BOTANY (MLD01)	Th.	3	5.00	15.00	С

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Kalapet, Pondicherry

Home



Result Announced Date: 14/05/2025

I Semester B.Sc. ZOOLOGY JANUARY 2025 Examinations

Reg. No.: 24ZL0011 Name of the Student : HARISHA R

Mother Name: USHA Father Name: RAMAN

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	BIOLOGY OF INVERTEBRATES-I	Th.	4	000	000	F Fail
2	INTRODUCTION TO BOTANY -I	Th.	4	000	000	F Fail
3	ENGLISH-I	Th.	3	000	000	F
4	AQUACULTURE	Th.	3	000	000	Fail
5	ENVIRNMENTAL STUDIES	Th.	2	000	000	F
6	UNDERSTANDING INDIA	Th.	2	000	000	F
7	BASIC BOTANY (MLD01)	Th.	3	000	000	F

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Kalapet, Pondicherry

Home



Result Announced Date: 14/05/2025

I Semester B.Sc. ZOOLOGY JANUARY 2025 Examinations

Reg. No.: 24ZL0012 Name of the Student : ILAKKIA S

Father Name: SELVAM **Mother Name: SAROJA**

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	BIOLOGY OF INVERTEBRATES-I	Th.	4	000	000	F Fail
2	INTRODUCTION TO BOTANY -I	Th.	4	5.00	20.00	С
3	ENGLISH-I	Th.	3	000	000	F
4	AQUACULTURE	Th.	3	8.00	24.00	Α
5	ENVIRNMENTAL STUDIES	Th.	2	5.00	10.00	С
6	UNDERSTANDING INDIA	Th.	2	6.00	12.00	В
7	BASIC BOTANY (MLD01)	Th.	3	4.00	12.00	Р

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Kalapet, Pondicherry

Home



Result Announced Date: 14/05/2025

I Semester B.Sc. ZOOLOGY JANUARY 2025 Examinations

Reg. No.: 24ZL0013

Name of the Student : ILANCHEZHIAN S

Father Name: SURESH **Mother Name: ANITHA**

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	BIOLOGY OF INVERTEBRATES-I	Th.	4	000	000	F Fail
2	INTRODUCTION TO BOTANY -I	Th.	4	000	000	F Fail
3	ENGLISH-I	Th.	3	000	000	F
4	AQUACULTURE	Th.	3	000	000	Fail
5	ENVIRNMENTAL STUDIES	Th.	2	000	000	F
6	UNDERSTANDING INDIA	Th.	2	000	000	F
7	BASIC BOTANY (MLD01)	Th.	3	000	000	F

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Kalapet, Pondicherry

Home



Result Announced Date: 14/05/2025

I Semester B.Sc. ZOOLOGY JANUARY 2025 Examinations

Reg. No.: 24ZL0014

Name of the Student: JAYAVARDHAN J

Father Name: JAYASEELAN **Mother Name: VALLI**

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	BIOLOGY OF INVERTEBRATES-I	Th.	4	000	000	F Fail
2	INTRODUCTION TO BOTANY -I	Th.	4	000	000	F Fail
3	ENGLISH-I	Th.	3	000	000	F
4	AQUACULTURE	Th.	3	000	000	Fail
5	ENVIRNMENTAL STUDIES	Th.	2	000	000	F
6	UNDERSTANDING INDIA	Th.	2	000	000	F
7	BASIC BOTANY (MLD01)	Th.	3	000	000	F

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Kalapet, Pondicherry

Home

Mother Name: VAIJAYANTHI



Result Announced Date: 14/05/2025

I Semester B.Sc. ZOOLOGY JANUARY 2025 Examinations

Reg. No.: 24ZL0015

Name of the Student : KARTHIGA R

Father Name: RAMESHKANNAN

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	BIOLOGY OF INVERTEBRATES-I	Th.	4	000	000	F Fail
2	INTRODUCTION TO BOTANY -I	Th.	4	7.00	28.00	B+
3	ENGLISH-I	Th.	3	4.00	12.00	Р
4	AQUACULTURE	Th.	3	10.00	30.00	0
5	ENVIRNMENTAL STUDIES	Th.	2	7.00	14.00	B+
6	UNDERSTANDING INDIA	Th.	2	7.00	14.00	B+
7	BASIC BOTANY (MLD01)	Th.	3	6.00	18.00	В

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Kalapet, Pondicherry

Home



Result Announced Date: 14/05/2025

I Semester B.Sc. ZOOLOGY JANUARY 2025 Examinations

Reg. No.: 24ZL0016 Name of the Student : KAVITHA K

Father Name: KANNAN **Mother Name: SASIKALA**

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	BIOLOGY OF INVERTEBRATES-I	Th.	4	000	000	F Fail
2	INTRODUCTION TO BOTANY -I	Th.	4	000	000	F Fail
3	ENGLISH-I	Th.	3	000	000	F
4	AQUACULTURE	Th.	3	4.00	12.00	Р
5	ENVIRNMENTAL STUDIES	Th.	2	4.00	8.00	P
6	UNDERSTANDING INDIA	Th.	2	5.00	10.00	С
7	BASIC BOTANY (MLD01)	Th.	3	5.00	15.00	С

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Kalapet, Pondicherry

Home



Result Announced Date: 14/05/2025

I Semester B.Sc. ZOOLOGY JANUARY 2025 Examinations

Reg. No.: 24ZL0017

Name of the Student : MANIKANDAN M

Father Name: MURUGESAN Mother Name: KANAGAVALLI

I.		1	1	1	1	
SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	BIOLOGY OF INVERTEBRATES-I	Th.	4	5.00	20.00	С
2	INTRODUCTION TO BOTANY -I	Th.	4	6.00	24.00	В
3	ENGLISH-I	Th.	3	000	000	F
4	AQUACULTURE	Th.	3	9.00	27.00	A+
5	ENVIRNMENTAL STUDIES	Th.	2	7.00	14.00	B+
6	UNDERSTANDING INDIA	Th.	2	8.00	16.00	A
7	BASIC BOTANY (MLD01)	Th.	3	7.00	21.00	B+

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Kalapet, Pondicherry

Home

Mother Name: ANUJA MARY



Result Announced Date: 14/05/2025

I Semester B.Sc. ZOOLOGY JANUARY 2025 Examinations

Reg. No.: 24ZL0018

Name of the Student : MARIYA ARJUN A

Father Name: ALEX PERIYANAYAGA RAJ

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	BIOLOGY OF INVERTEBRATES-I	Th.	4	000	000	F Fail
2	INTRODUCTION TO BOTANY -I	Th.	4	000	000	F Fail
3	ENGLISH-I	Th.	3	000	000	F
4	AQUACULTURE	Th.	3	000	000	Fail
5	ENVIRNMENTAL STUDIES	Th.	2	000	000	F
6	UNDERSTANDING INDIA	Th.	2	000	000	F
7	BASIC BOTANY (MLD01)	Th.	3	000	000	F

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Kalapet, Pondicherry

Home



Result Announced Date: 14/05/2025

I Semester B.Sc. ZOOLOGY JANUARY 2025 Examinations

Reg. No.: 24ZL0019

Name of the Student : MARIYA JIMCY A

Father Name: AROKIYADOSS

Mother Name: FLORENCE MARY

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	BIOLOGY OF INVERTEBRATES-I	Th.	4	000	000	F Fail
2	INTRODUCTION TO BOTANY -I	Th.	4	5.00	20.00	С
3	ENGLISH-I	Th.	3	000	000	F
4	AQUACULTURE	Th.	3	9.00	27.00	A+
5	ENVIRNMENTAL STUDIES	Th.	2	6.00	12.00	В
6	UNDERSTANDING INDIA	Th.	2	7.00	14.00	B+
7	BASIC BOTANY (MLD01)	Th.	3	6.00	18.00	В

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Kalapet, Pondicherry

Home



Result Announced Date: 14/05/2025

I Semester B.Sc. ZOOLOGY JANUARY 2025 Examinations

Reg. No.: 24ZL0020

Name of the Student: MOHAMMED THAHLIL M

Father Name: MOHAMMED IBRAHIM

Mother Name: HAIJA NATCHIYAL

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	BIOLOGY OF INVERTEBRATES-I	Th.	4	000	000	F Fail
2	INTRODUCTION TO BOTANY -I	Th.	4	000	000	F Fail
3	ENGLISH-I	Th.	3	000	000	F
4	AQUACULTURE	Th.	3	000	000	Fail
5	ENVIRNMENTAL STUDIES	Th.	2	000	000	F
6	UNDERSTANDING INDIA	Th.	2	000	000	F
7	BASIC BOTANY (MLD01)	Th.	3	000	000	F

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Kalapet, Pondicherry

Home



Result Announced Date: 14/05/2025

I Semester B.Sc. ZOOLOGY JANUARY 2025 Examinations

Reg. No.: 24ZL0021

Name of the Student: MOHANA SUNDARAM S

Father Name: SAMINATHAN Mother Name: JAYANTHI

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	BIOLOGY OF INVERTEBRATES-I	Th.	4	8.00	32.00	Α
2	INTRODUCTION TO BOTANY -I	Th.	4	8.00	32.00	Α
3	ENGLISH-I	Th.	3	5.00	15.00	С
4	AQUACULTURE	Th.	3	10.00	30.00	0
5	ENVIRNMENTAL STUDIES	Th.	2	8.00	16.00	A
6	UNDERSTANDING INDIA	Th.	2	8.00	16.00	A
7	BASIC BOTANY (MLD01)	Th.	3	8.00	24.00	Α

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Kalapet, Pondicherry

Home

Mother Name: VICTORIYA



Result Announced Date: 14/05/2025

I Semester B.Sc. ZOOLOGY JANUARY 2025 Examinations

Reg. No.: 24ZL0022

Name of the Student : MUTHURAJ S Father Name: SIVAKUMAR

Credit Credit Th Grade SI. No. **Subject Name** Grade Pr Hours Point Point 1 **BIOLOGY OF INVERTEBRATES-I** Th. Fail 2 INTRODUCTION TO BOTANY -I Th. 5.00 20.00 С 3 ENGLISH-I 000 000 F Th. 3

AQUACULTURE 12.00 Р Th. 3 4.00 5 **ENVIRNMENTAL STUDIES** 2 Р Th. 4.00 8.00 6 UNDERSTANDING INDIA Th. 2 4.00 8.00 BASIC BOTANY (MLD01) Th.

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Kalapet, Pondicherry

Home



Result Announced Date: 14/05/2025

I Semester B.Sc. ZOOLOGY JANUARY 2025 Examinations

Reg. No.: 24ZL0023 Name of the Student : NIVAS V

Father Name: VELAN **Mother Name: ANJALI**

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	BIOLOGY OF INVERTEBRATES-I	Th.	4	000	000	F Fail
2	INTRODUCTION TO BOTANY -I	Th.	4	5.00	20.00	С
3	ENGLISH-I	Th.	3	000	000	F
4	AQUACULTURE	Th.	3	5.00	15.00	С
5	ENVIRNMENTAL STUDIES	Th.	2	4.00	8.00	Р
6	UNDERSTANDING INDIA	Th.	2	5.00	10.00	С
7	BASIC BOTANY (MLD01)	Th.	3	4.00	12.00	Р

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Kalapet, Pondicherry

Home



Result Announced Date: 14/05/2025

I Semester B.Sc. ZOOLOGY JANUARY 2025 Examinations

Reg. No.: 24ZL0024 Name of the Student : REX G

Father Name: GOBU Mother Name: PARIMALAAROCKIAMARY

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	BIOLOGY OF INVERTEBRATES-I	Th.	4	000	000	F Fail
2	INTRODUCTION TO BOTANY -I	Th.	4	000	000	F Fail
3	ENGLISH-I	Th.	3	000	000	F
4	AQUACULTURE	Th.	3	5.00	15.00	С
5	ENVIRNMENTAL STUDIES	Th.	2	000	000	F
6	UNDERSTANDING INDIA	Th.	2	000	000	F
7	BASIC BOTANY (MLD01)	Th.	3	000	000	F

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Kalapet, Pondicherry

Home



Result Announced Date: 14/05/2025

I Semester B.Sc. ZOOLOGY JANUARY 2025 Examinations

Reg. No.: 24ZL0025

Name of the Student : SAKTHIRAM R

Father Name: RAJENDIRAN **Mother Name: VALLI**

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	BIOLOGY OF INVERTEBRATES-I	Th.	4	000	000	F Fail
2	INTRODUCTION TO BOTANY -I	Th.	4	000	000	F Fail
3	ENGLISH-I	Th.	3	000	000	F
4	AQUACULTURE	Th.	3	9.00	27.00	A+
5	ENVIRNMENTAL STUDIES	Th.	2	000	000	F
6	UNDERSTANDING INDIA	Th.	2	000	000	F
7	BASIC BOTANY (MLD01)	Th.	3	000	000	F

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Kalapet, Pondicherry

Home



Result Announced Date: 14/05/2025

I Semester B.Sc. ZOOLOGY JANUARY 2025 Examinations

Reg. No.: 24ZL0026 Name of the Student : SANJAY I

Father Name: IRUTHAYARAJ Mother Name: CAROLINE MARY

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	BIOLOGY OF INVERTEBRATES-I	Th.	4	000	000	F Fail
2	INTRODUCTION TO BOTANY -I	Th.	4	000	000	F Fail
3	ENGLISH-I	Th.	3	000	000	F
4	AQUACULTURE	Th.	3	000	000	Fail
5	ENVIRNMENTAL STUDIES	Th.	2	000	000	F
6	UNDERSTANDING INDIA	Th.	2	000	000	F
7	BASIC BOTANY (MLD01)	Th.	3	000	000	F

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Kalapet, Pondicherry

Home



Result Announced Date: 14/05/2025

I Semester B.Sc. ZOOLOGY JANUARY 2025 Examinations

Reg. No.: 24ZL0027

Name of the Student : SANTHOSH D

Father Name: DIXON Mother Name: JEANDRA MARY

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	BIOLOGY OF INVERTEBRATES-I	Th.	4	000	000	F Fail
2	INTRODUCTION TO BOTANY -I	Th.	4	4.00	16.00	Р
3	ENGLISH-I	Th.	3	000	000	F
4	AQUACULTURE	Th.	3	4.00	12.00	Р
5	ENVIRNMENTAL STUDIES	Th.	2	4.00	8.00	Р
6	UNDERSTANDING INDIA	Th.	2	000	000	F
7	BASIC BOTANY (MLD01)	Th.	3	5.00	15.00	С

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Kalapet, Pondicherry

Home



Result Announced Date: 14/05/2025

I Semester B.Sc. ZOOLOGY JANUARY 2025 Examinations

Reg. No.: 24ZL0028

Name of the Student : SANTHOSH E

Father Name: ESU RAJ **Mother Name: AROKIAMARY**

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	BIOLOGY OF INVERTEBRATES-I	Th.	4	000	000	F Fail
2	INTRODUCTION TO BOTANY -I	Th.	4	6.00	24.00	В
3	ENGLISH-I	Th.	3	000	000	F
4	AQUACULTURE	Th.	3	6.00	18.00	В
5	ENVIRNMENTAL STUDIES	Th.	2	4.00	8.00	Р
6	UNDERSTANDING INDIA	Th.	2	6.00	12.00	В
7	BASIC BOTANY (MLD01)	Th.	3	6.00	18.00	В

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Kalapet, Pondicherry

Home



Result Announced Date: 14/05/2025

I Semester B.Sc. ZOOLOGY JANUARY 2025 Examinations

Reg. No.: 24ZL0029

Name of the Student : SATHISH KUMAR V

Father Name: VADIVEL **Mother Name: CHITRA**

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	BIOLOGY OF INVERTEBRATES-I	Th.	4	000	000	F Fail
2	INTRODUCTION TO BOTANY -I	Th.	4	000	000	F Fail
3	ENGLISH-I	Th.	3	000	000	F
4	AQUACULTURE	Th.	3	000	000	Fail
5	ENVIRNMENTAL STUDIES	Th.	2	000	000	F
6	UNDERSTANDING INDIA	Th.	2	000	000	F
7	BASIC BOTANY (MLD01)	Th.	3	000	000	F

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Kalapet, Pondicherry

Home



Result Announced Date: 14/05/2025

I Semester B.Sc. ZOOLOGY JANUARY 2025 Examinations

Reg. No.: 24ZL0030

Name of the Student : SUBHASHINI M

Father Name: MOUROUGANE **Mother Name: BANUPRIYA**

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	BIOLOGY OF INVERTEBRATES-I	Th.	4	8.00	32.00	A
2	INTRODUCTION TO BOTANY -I	Th.	4	7.00	28.00	B+
3	ENGLISH-I	Th.	3	4.00	12.00	Р
4	AQUACULTURE	Th.	3	10.00	30.00	0
5	ENVIRNMENTAL STUDIES	Th.	2	6.00	12.00	В
6	UNDERSTANDING INDIA	Th.	2	7.00	14.00	B+
7	BASIC BOTANY (MLD01)	Th.	3	8.00	24.00	Α

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Kalapet, Pondicherry

Home



Result Announced Date: 14/05/2025

I Semester B.Sc. ZOOLOGY JANUARY 2025 Examinations

Reg. No.: 24ZL0031 Name of the Student : SWATHI M

Father Name: MADHAVAN **Mother Name: SHYAMALADEVI**

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	BIOLOGY OF INVERTEBRATES-I	Th.	4	6.00	24.00	В
2	INTRODUCTION TO BOTANY -I	Th.	4	8.00	32.00	A
3	ENGLISH-I	Th.	3	5.00	15.00	С
4	AQUACULTURE	Th.	3	9.00	27.00	A+
5	ENVIRNMENTAL STUDIES	Th.	2	6.00	12.00	В
6	UNDERSTANDING INDIA	Th.	2	8.00	16.00	A
7	BASIC BOTANY (MLD01)	Th.	3	7.00	21.00	B+

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Kalapet, Pondicherry

Home

Mother Name: DEEPA



Result Announced Date: 14/05/2025

I Semester B.Sc. ZOOLOGY JANUARY 2025 Examinations

Reg. No.: 24ZL0032

Name of the Student: THIRUMARAN M Father Name: MOHAN

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	BIOLOGY OF INVERTEBRATES-I	Th.	4	000	000	F Fail
2	INTRODUCTION TO BOTANY -I	Th.	4	5.00	20.00	С
3	ENGLISH-I	Th.	3	000	000	F
4	AQUACULTURE	Th.	3	4.00	12.00	Р
5	ENVIRNMENTAL STUDIES	Th.	2	6.00	12.00	В
6	UNDERSTANDING INDIA	Th.	2	6.00	12.00	В
7	BASIC BOTANY (MLD01)	Th.	3	5.00	15.00	С

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.